REIVNE

BRI, 2K

NORIS DRILLREX

e B o 2 KHIFB & Bk

G Quality =
Made in Germany

CN ISO 9001 CERTIFIED




NORIS DRILLREX UNI SERIES




<HY
BREN

LEFf EI’J

£




e ER S
TREB-RZE ho
BhRaE

DIN 6535 HA

12hefs/E R30°

DIN 6537 L (5Df2%1))

TIBLU-RE
- A

- -

NORIS DRILLREX UNI

SERRIRAA Tk IEMRRYELSk




REIMNE

B, 2Ky

HEEEIRIT
ey
. AR EES
BBIER (B)

» RMAERMERANR SN LM M haeRE=X R
(TZrI5H)

TR AR
- PR
- R
- Sl

» BRAHIE T

IEITIERAL
« AEREAERIA
- AT
- RS

>

SRERETERIFIBNTE




-

SRR ETF S DIN 6535 HA
WEB-AZE h6
TIBLU-RE

12hefs/E R30°

90° - 3IF3

~DIN 6537 K (3DF2 £

NORISDRILLREX UNI

SERRIRAA Tk IEMRRYELSk




REINE

B, 2Ky

HEBET

- AT

- O

- BICBERE ()

» BDEE RN T A= =R
(TZA %)

90° EIFEERAL
AT BRI A ALATAL
 SEEERRA

IEITIERAL
- AERERERIA
- AT
- RS

>

SRERETIEURIFENTA

TR R CIL i
* BRIREL
. ISTBENL
- SYEIRE

» BRAHILZFFRER




\*5Elﬁ&l\

B FRPEGEHITRIEIRSRIEIUE.

o %
s
. 25 RFe40 | RFe100 | St2 | St3 |Stw22 | Stw24 | IF 18 | DCO3 | DD11 | DX53D | CR2 | HR2
SN, KN 9SMnPb 28 | 10SPb20 | 15520 | 9SMn 36 | S355 | 15Mo3 | 16 Mo 5 | 14 Ni6 | 13CrMo44 | 10CrMo 910 | 14 MoV 63 | St37 | St44 | St50 | St52
. KN, 8N $690 | St60 |St70 [S960 | 60520 | 21 CrMoV'57 | 12Ni19 | 17 Cr3 | C15 | €22 |GS-17 CrMo 55 | GS-20 Mn MoNi 5 5
. VAR, SETER C45 | Ck45 | C60 | Ck60 | C70 | 36 CrNiMo 4 | 36 NiCr 6 | 42 CrMo 4 | 90 MnCrV 8 |100 Cr 6 | X6 CrMo 4 | X153 CrMoV/ 12 | X210 Crw 12
VAR, PYETEN 36 CrNiMo 4 | 36 NiCr 6 | 42 CrMo 4 | 39 CrMoV 13 9 | 34 CrAINi 7 | 40 CrMnMoS 8 6 | 55 NiCrMoV 6 | X32 CrMoV 33 | X38 CrMoV/ 5 1 | X20 CoCrWMo 109
R T AR
11 it rRNmERN X6 Cr17 | X2 CrMoTi 18 2 | X5 CrNi 189 | X5 CrNiMo 18 10 | X5 CrNi 18 12 | X8 CrNi 25 21 | X12 CrNi 23 13 | X2 CrNiMo 17 13 2 | X6 CrNiMoTi 17 12 2
12 TR IhFImIEREN X13 Cr 13 | X50 CrMoV 15 | X80 CrNiSi 20 | X2 CrNiN 234 | X39 CrMo 171 | X4 CrNiMo 16 5 1 | X105 CrMo 17 | X4 CrNiCuNb 16 4
13 TEFImIES N X5 CrniCuNb 16 4 | X7 CrNiAI 17 7 | X2 CrNiMoN 225 3 | X2 CrNiMoN 25 7 4 | X2 CrNiMoCuN 25 6 3

55223 GG15/ EN-GJL-150 | GG20 / EN-GJL-200 | GG25 / EN-GJL-250 | GG30/ EN-GJL-300

BREBEE L GGGA40 / EN-GJS-400-15 | GGGS0 / EN-GJS-500-7 | GGG60 / EN-GJS-600-2 | GGG70 / EN-GJS-700-2 | GGG80 / EN-GJS-800-7 | GGGI0 / EN-GJS-900-4

EEREE R GGV-300/EN-GJV 300 | GGV 350 / EN-GJV 350 | GGV 400/ EN-GJV 400 | GGV 450 / EN-GJV 450 | GGV 500/ EN-GJV 500 | GGV 550/ EN-GJV 550

ARk EN-GIMW-350-04 | EN-GIMW-450-07 | EN-GIMW-550-04 | EN-GJMB-350-10 | EN-GJMB-450-06 | EN-GJMB-550-04 | EN-GJMB-650-02 | EN-GJMB-800-01
WlZEMOOHBE’J%{L‘F GJH-X 260 NiCr4 2 | GJH-X 330 NiCr4 2 | GJH-X CrNiSi 95 2 | GJH-X 300 CrMo 15 3 | ADI 800 / EN-GJS-800-8 | ADI 1000 / EN-GJS-1000-5 | ADI 1200 / EN-GJS-1200-2

_—
BEAe AI99,9 | Al99,8 | AI99,7 | AI99,5 | AI99 | AIMn0,5Mg0,5 | AIMn1 | AIMn1Mg0,5 | AIMgl |AlMg3 |AlSiMg4,5Mn
%Aﬁ AlMgSi1 | AICuBiPb | AlCuMgl AlCuSiMn | AIMg1SiCu | AlZnMgCu0,5 | AlZnMgCul,5 | AlCu4PbMg
BE8E (KB) G-AlSiISCu1Mg | G-AICu4MgTi | G-AIMg3Si | GD-AIMg9 | GD-AIMg3
ﬁ&.A@ G-AlSi7Mg | G-AISiI9Mg | G-AISI9Cu3 | G-AISi10Mg | G-AISi10Mg(Cu) | G-AISi12 | G-AlSi12(Cu)
HEeE (EB) G-AISi12,5MgCuNi | G-AlSi17Cu4Mg | G-AlSi18CuNiMg | G-AISi21CuNiMg | G-AIS25CuNiMg
4R CuZn15 | Cuzn30 | E-Cu58 | CuBe2Pb | CuBe2 | CuNi2Be |Cuzr
fFEEE (FEE) (KB) Cuzn37 | Ms63 / CuZn36Pb1,5 | Ms60 / Cuzn40 | CuZn36Pb2As | Cuzn36Pb3 | Ms63 / Cuzn37Pb0,5
FEeE (EE) EB) Ms58 / CuZn39Pb3 | ECOBRASS / Cuzn21Si3P | Ms58 / CuzZn39Pb2 | Cuzn40Mn1Pb | Ms58 / CuzZn40Pb2
fARATEES (KB) CuAl8Fe3 | CuNi10Fe1Mn | AMPCO 8
RARREE (BR) AMPCO 21 | AMPCO 25 | AMPCO 45 | AMPCO M4 | CuAl10Fe5Ni5-C | CuAILONiSFe4 |CuNi9Sn2
fEae (B (KRB CuSn4 | CuSn8P | CuSn7Zn2Pb3 | Rg7 / CuSn7Zn4Pb7 | Rgl0/ G-CuSn10Zn | CuSn4 | CuSnd
fReE (FiE) GEB) CuSn3Zn8PbS | Rg5/ CuSn5Zn5PhS | Cusn10-C | CuSn12Ni2-C
REEE ENMG-P-63 / MgAl6Zn | ENMB-21120 / G-MgAI9Zn1 | ENMG-P-62 / MgAI3Zn | ENMGP-63 / MgAl6Zn | ENMG-P-43 / MgZn3Zr | MgZn3Zr | MgZn6Zr
eSS 7400/ ZnAl4 | Z410 / ZnAl4Cu1 | Z430 / ZnAl4Cu3
HEMEE (BB) Bakelit | Pertinax
HEBHYERL (KIB) PMMA /POM / PVC
EF*EE“SAESZMH GFK | CFK unidirektional | CFK multidirektional | AFK
e

S MEINTAARE
11 BAN/ESES Monel 400 / NiCu30Fe | Monel K-500 / NiCu30Al | Nimonic 901 / NiCr13Mo6Ti3 | Nimonic 75 / NiCr20Ti
12 BE/ES%ES Nimonic C276 / NiMo16Cr15 | Hastelloy B / G-NiMo28 |Hastelloy B2 / G-NiMo30 | Hastelloy C4 / NiMo16Cr16Ti | Inconel 625 / NiCr22Mo9Nb
13 B//4%ES Inconel 718 / NiCr19FeNbMo | Waspaloy / NiCr20Co14MoTi | Nimonic 90 / NiCr20Co18Ti | Nimonic 105 NiCo20Cr15MoAITi
21 4K, $EE TiGrade 1/Ti99,5 | Ti Grade 2 /Ti99,4 | Ti Grade 3/Ti99,3 | Ti Grade 4 /Ti99,2 | Ti Grade 2 Pd /T2 Pd
22 $%EE TiGrade 5/ TiAl6V4 | Ti Grade 23 / TiAl6V4 ELI | Tikrutan / TIAISFe2,5 | TiBAILMoV | Ti6AI2SN4ZréMo | Ti6AI2Sn22r2Mo2Cr0,25Si | TiAlAMo4Sn2
H ERREE
1.1 EEREEN Dillidur 500 | Dillidur 550 | Toolox 44 | Hardox 500 | Hardox 550
12 EREEN Difender 600 | Armox 600T | 45 WCrV 7
13 RN Ferro-Titanit | X155 CrVMo 12 1
14 EEREHN Mh97 | HSSE |

REIVE




< 400 N/mm?
< 600 N/mm?
< 850 N/mm?
<1100 N/mm?
<1400 N/mm?

< 850 N/mm?
<1100 N/mm?
<1400 N/mm?

< 400 N/mm?
<1000 N/mm?
< 500 N/mm?
< 800 N/mm?
<1400 N/mm?

<350 N/mm2
<600 N/mm2
<5% Si
5%-12% Si
>12%Si
<500 N/mm?
<600 N/mm?
<600 N/mm?
< 880 N/mm?
< 880 N/mm?
< 800 N/mm?
<500 N/mm?
< 600 N/mm?

RIS DRILLREX UNI NORIS DRILLREX-C UNI

V¢ (m/min)

AR TN

IN MED MAX
110 140 170

100
90
60
50

55
50
35

120
110
90
80

130 160
110 140
80 100
60 70

60 65
55 60
40 45

150 180
130 150
110 130
90 100

0,10
0,08
0,07
0,06
0,05

0,06
0,05
0,05

MIN  MED MAX

0,08
0,06
0,08
0,06

DIN 6535 HA

5xD ]

TIBLU-RE
BREE
T3 10 - 13

0,12 0,14
0,10 0,12
0,09 0,11
0,08 0,09
0,07 0,08

0,08 0,10
0,07 0,08
0,07 0,08

0,12 0,14
0,10 0,12
0,09 0,10
0,07 0,08

0,12
0,10
0,08
0,07
0,06

0,08
0,07
0,07

MIN  MED MAX

0,10
0,08
0,10
0,08

014 0,16
0,12 0,14
011 0,13
0,09 0,10
0,08 0,09

0,10 0,12
0,08 0,10
0,08 0,10

0,14 0,17
0,12 0,16
0,11 0,12
0,12 0,14

0,14
0,12
0,10
0,09
0,06

0,10
0,09
0,09

MIN  MED MAX

0,13
0,10
0,12
0,10

0,17 0,20
0,14 0,16
0,13 0,15
0,10 0,12
0,08 0,10

0,12 0,14
0,11 0,13
0,11 0,13

0,18 0,22
0,16 0,21
0,14 0,18
0,15 0,20

0,16
0,14
0,13
0,11
0,08

0,12
0,11
0,11

MIN  MED MAX

0,15
0,12
0,14
0,13

0,21 0,25
0,17 0,21
0,16 0,20
0,13 0,15
0,10 0,13

0,14 0,16
0,13 0,15
0,13 0,15

0,20 0,25
0,18 0,23
0,17 0,20
0,18 0,22

0,18
0,17
0,15
0,13
0,11

0,14
0,13
0,13

MIN  MED MAX

0,17
0,14
0,18
0,14

DIN 6535 HA

SxDﬂ

TIBLU-E
BEREE

14
e

023 0,28
021 0,25
0,20 0,24
0,16 0,18
013 0,15

0,16 0,18
0,15 0,17
0,15 0,17

0,24 0,30
0,21 0,28
0,21 0,24
0,20 0,26

0,24
0,22
0,20
0,18
0,14

0,16
0,15
0,15

MIN  MED MAX

0,21
0,16
0,21
0,18

0,28 0,32
0,25 0,28
0,23 0,25
0,20 0,22
0,17 0,20

0,18 0,22
0,17 0,21
0,17 0,21

0,28 0,34
0,25 0,33
0,24 0,27
0,23 0,28

0,30
0,28
0,25
0,22
0,18

0,20
0,19
0,19

0,35 0,40
032 035
0,30 0,35
0,26 0,30
0,22 0,25
022 0,23
021 0,22
021 0,22

MIN  MED MAX

0,28
0,20
0,25
0,20

0,34 0,40
0,30 0,40
0,30 0,35
0,25 0,30

MIN  MED MAX

250
250
250
250

165
200
250
55
55
80
110

40

350 450
320 370
300 350
270 290
180 195
220 240
300 350
70 80
70 80
90 100
120 130
50 60

MIN  MED MAX

0,07
0,07
0,07
0,05

0,10
0,08
0,10
0,06
0,06
0,08
0,08

0,05

0,09 0,10
0,09 0,10
0,09 0,10
0,07 0,09

013 0,16
0,12 0,14
013 0,16
0,08 0,10
0,08 0,10
012 0,16
011 0,14

0,07 0,08

MIN  MED MAX

0,13
0,13
0,13
0,10

0,14
0,10
0,14
0,08
0,08
0,12
0,10

0,06

0,15 0,18
0,15 0,18
0,15 0,18
0,13 0,16

0,16 0,20
0,14 0,18
0,16 0,20
0,10 0,12
0,10 0,12
0,16 0,20
0,14 0,18

0,08 0,10

MIN  MED MAX

0,20
0,20
0,20
0,16

0,18
0,16
0,18
0,10
0,10
0,14
0,12

0,08

0,22 0,24
0,22 0,24
0,22 0,24
0,19 0,22

021 0,24
0,19 0,22
021 0,24
0,12 0,14
012 0,14
0,19 0,24
0,17 0,22

0,10 0,12

MIN  MED MAX

0,25
0,25
0,25
0,20

0,22
0,20
0,22
0,09
0,09
0,18
0,16

0,10

0,28 0,30
0,28 0,30
0,28 0,30
0,24 0,28

024 0,26
0,22 0,24
024 0,26
0,13 0,16
0,13 0,16
022 0,26
0,20 0,24

0,12 0,14

MIN  MED MAX

0,30
0,30
0,30
0,24

0,26
0,24
0,26
0,10
0,10
0,20
0,18

0,12

0,33 0,36
033 0,36
0,33 0,36
029 0,33

0,28 0,30
0,26 0,28
028 0,30
014 0,18
014 0,18
0,25 0,30
023 0,28

0,14 0,16

MIN  MED MAX

0,40
0,40
0,40
0,32

0,38
0,34
0,37
0,12
0,12
0,26
0,26

0,14

0,44 0,48
044 048
0,44 0,48
0,38 0,44

0,39 0,40
0,36 0,38
0,38 0,40
0,16 0,20
0,16 0,20
0,31 0,36
029 0,32

0,16 0,18

0,50
0,50
0,50
0,40

0,48
0,44
0,46
0,14
0,14
0,32
0,32

0,18

0,55 0,60
0,55 0,60
0,55 0,60
0,48 0,55

0,54 0,60
0,50 0,55
0,56 0,65
0,18 0,22
0,18 0,22
0,39 0,45
0,36 0,40

0,20 0,22

< 850 N/mm?
<1100 N/mm?
<1600 N/mm?
< 900 N/mm?
<1400 N/mm?

44 HRC - 55 HRC
>55 HRC - 60 HRC
>60 HRC - 63 HRC
>63 HRC - 66 HRC

45
25

50 55
35 40

0,06
0,05

0,08 0,10
0,07 0,08

0,08
0,07

0,10 0,12
0,09 0,10

0,10
0,09

0,12 0,14
0,11 0,13

0,12
0,11

0,14 0,16
0,13 0,15

0,14
0,13

0,16 0,18
0,15 0,17

0,16
0,15

0,19 0,22
0,18 0,21

0,20
0,19

022 0,23
0,21 0,22




%IJ_'I_\\ NORIS
DRILLREX UNI
h6é
VHM 5xD TIBLU
UU[@J[W][W][ ]

DIN 6535 HA

v
d, (h6) 140 |d, (m7)=D

* A

A
A

A
A\

5xD
TIBLU
ERAS

¢ dl

[mm] [mm] [mm] [mm] [mm] [mm] [mm]

2,80 61 22 17 36 06 6 D10005AA.0280
2,85 #6-32 61 22 17 36 06 6 D10005AA.0285
290 M35 M3x0,25 61 22 17 36 06 6 D10005AA.0290
2,95 61 22 17 36 06 6 D10005AA.0295
3,00 M3,5x0,5 MIJ3,5x0,6 #6-40 UNJF 66 28 23 36 06 6 D10005AA.0300
3,10 66 28 23 36 06 6 D10005AA.0310
3,15 M3,5x0,35 #6-32 66 28 23 36 06 6 D10005AA.0315
3,20 MJ3,5x0,35 66 28 23 36 06 6 D10005AA.0320
3,22 #6-40 66 28 23 36 06 6 D10005AA.0322
3,25 M3,5 66 28 23 36 06 6 D10005AA.0325
3,30 M4 M3,5x0,5 66 286 23 36 0,7 6 D10005AA.0330
3,40 MJ4x0,7 66 28 23 36 07 6 D10005AA.0340
3,50 M4x0,5 #8-32 #8-36 #8-32 UNIC 66 28 23 36 07 6 D10005AA.0350
3,65 M4x0,35 66 28 23 36 07 6 D10005AA.0365
3,70 M4,5 M4 MJ4x0,7 66 286 23 36 0,7 6 D10005AA.0370
3,80 M4x0,5 #8-32 74 36 29 36 08 6 D10005AA.0380
3,90 MJ4,5x0,75 #10-24 #10-24 UNJC 74 36 29 36 08 6 D10005AA.0390
4,00 M4,5x0,5 74 36 29 36 08 6 D10005AA.0400
4,10 MJ4,5x0,5 #10-32 74 36 29 36 08 6 D10005AA.0410
4,20 M5  M5x0,75 M4,5 74 36 29 36 08 6 D10005AA.0420
4,30 MJ5x0,8 M4,5x0,5 74 36 29 36 08 6 D10005AA.0430
4,35 #10-24 74 36 29 36 08 6 D10005AA.0435
4,40 74 36 29 36 08 6 D10005AA.0440
4,45 #10-32 74 36 29 36 08 6 D10005AA.0445
4,50 M5x0,5 #12-24 74 36 29 36 09 6 D10005AA.0450
4,60 M55 MJ5x0,5 #12-28 74 36 29 36 09 6 D10005AA.0460
4,65 M5 MJ5x0,8 74 36 29 36 09 6 D10005AA.0465
4,70 M5x0,75 74 36 29 36 09 6 D10005AA.0470
4,80 M5x0,5 82 44 35 36 10 6 D10005AA.0480
4,90 82 44 35 36 10 6 D10005AA.0490
5,00 M6 #12-24 82 44 35 36 10 6 D10005AA.0500
5,10 MJ6x1 1/4-20 M5,5 #12-28 82 44 35 36 1,0 6 D10005AA.0510
5,20 M6x0,75 82 44 35 36 10 6 D10005AA.0520
5,25 82 44 35 36 10 6 D10005AA.0525
5,30 M5,5x0,5 82 44 35 36 11 6 D10005AA.0530
5,40 82 44 35 36 11 6 D10005AA.0540
5,50 M6x0,5 1/4-28 82 44 35 36 11 6 D10005AA.0550
5,55 1/4-28 UNJF MJ6x1 82 44 35 36 11 6 D10005AA.0555
5,60 MJ6x0,5 M6 82 44 35 36 11 6 D10005AA.0560
5,70 5/16-18 UNJC M6x0,75 82 44 35 36 11 6 D10005AA.0570
5,75 1/4-20 82 44 35 36 1,1 6 D10005AA.0575

L
REINE




%IJ_'_I N NORIS
DRILLREX UNI
h6
VHM 5xD TIBLU
[ ][ ][ﬁJ[lw][”ﬂ]

DIN 6535 HA

v
d, (h6) 140° |d, (m7)=D

* A

A
A

A
A4

5xD
TIBLU
ERAE

¢ dl

[mm] [mm] [mm] [mm] [mm] [mm] [mm]

5,80 M6x0,5 82 44 35 36 12 6 D10005AA.0580
5,90 82 44 35 36 12 6 D10005AA.0590
5,95 1/4-28 82 44 35 36 12 6 D10005AA.0595
6,00 M7 82 44 35 36 12 6 D10005AA.0600
6,10 91 53 43 36 13 8 D10005AA.0610
6,20 M7x0,75 91 53 43 36 12 8 D10005AA.0620
6,30 91 53 43 36 13 8 D10005AA.0630
6,35 MIJ7x0,75 91 53 43 36 13 8 D10005AA.0635
6,40 91 53 43 36 13 8 D10005AA.0640
6,50 M7x0,5 91 53 43 36 13 8 D10005AA.0650
6,60 5/16-18 M7 91 53 43 36 13 8 D10005AA.0660
6,70 M7x0,75 91 53 43 36 13 8 D10005AA.0670
6,80 M8 1/16 M7x0,5 91 53 43 36 1,4 8 D10005AA.0680
6,90 MJ8x1,25 5/16-24 91 53 43 36 14 8 D10005AA.0690
7,00 M8x1 UNJF 5/16-24 91 53 43 36 1,4 8 D10005AA.0700
7,10 MJ8x1 91 53 43 36 14 8 D10005AA.0710
7,15 91 53 43 36 14 8 D10005AA.0715
7,20 M8x0,75 91 53 43 36 14 8 D10005AA.0720
7,25 91 53 43 36 14 8 D10005AA.0725
7,30 5/16-18 91 53 43 36 14 8 D10005AA.0730
7,40 91 53 49 36 15 8 D10005AA.0740
7,45 M8 5/16-24 91 53 49 36 15 8 D10005AA.0745
7,50 M8x0,5 91 53 49 36 15 8 D10005AA.0750
7,60 M38x1 91 53 49 36 15 8 D10005AA.0760
7,70 M8x0,75 91 53 49 36 15 8 D10005AA.0770
7,80 M9 M8x0,5 91 53 49 36 16 8 D10005AA.0780
7,90 MJ9x1,25 91 53 49 36 16 8 D10005AA.0790
8,00 M9x1 3/8-16 91 53 49 36 16 8 D10005AA.0800
8,10 103 61 4 40 1,7 10 D10005AA.0810
8,20 M9x0,75 103 61 49 40 16 10 D10005AA.0820
8,25 103 61 49 40 1,7 10 D10005AA.0825
8,30 103 61 49 40 1,7 10 D10005AA.0830
8,40 103 61 49 40 1,7 10 D10005AA.0840
8,50 M10 M9x0,5 3/8-24 103 61 49 40 1,7 10 D10005AA.0850
8,60 MJ10x1,5 UNJF 3/8-24 M9x1 103 61 49 40 1,7 10 D10005AA.0860
8,70 M9x0,75 103 61 49 40 1,7 10 D10005AA.0870
8,80 M10x1,25 G1/8 M9x0,5 3/8-16 103 61 4 40 1,8 10 D10005AA.0880
8,90 MJ10x1,25 103 61 49 40 1,8 10 D10005AA.0890
9,00 M10x1 103 61 49 40 1,8 10 D10005AA.0900
9,05 3/8-24 103 61 49 40 1,8 10 D10005AA.0905
9,10 MJ10x1 103 61 4 40 1,8 10 D10005AA.0910

)
REINE




%IJJ_\\ NORIS
DRILLREX UNI

DIN 6535 HA
VHM || 5xD @ [g} m! 7! TIBLU
140°
4
d, (he) 1210" d,(m7)=D
* = A
IS >
|, —————»
le—— | > | ——— 5
- N >
LS 5xD
FELHE TIBLU
7 ERe®
¢ dl
[mm] [mm] [mm] [mm] [mm] [mm] [mm]
9,20 M10x0,75 103 61 49 40 1,8 10 D10005AA.0920
9,25 1/8 103 61 49 40 19 10 D10005AA.0925
9,30 103 61 49 40 1,9 10 D10005AA.0930
9,35 MJ10x0,75 M10 103 61 49 40 19 10 D10005AA.0935
9,40 7/16-14 103 61 49 40 19 10 D10005AA.0940
9,45 M10x1,25 103 61 49 40 19 10 D10005AA.0945
9,50 M1l M10x0,5 103 61 49 40 1,9 10 D10005AA.0950
9,60 MJ10x0,5 M10x1 103 61 49 40 19 10 D10005AA.0960
9,70 M10x0,75 103 61 49 40 19 10 D10005AA.0970
9,80 M10x0,5 103 61 49 40 20 10 D10005AA.0980
9,90 MJ11x1,25 7/16-20 103 61 49 40 20 10 D10005AA.0990
10,00 M11x1 103 61 49 40 2,0 10 D10005AA.1000
10,20 M12 118 71 56 45 20 12 D10005AA.1020
10,25 118 71 56 45 2,0 12 D10005AA.1025
10,30 118 71 56 45 2,1 12 D10005AA.1030
10,40 18 71 56 45 2,1 12 D10005AA.1040
10,50 M12x1,5 118 71 56 45 2,1 12 D10005AA.1050
10,55 7/16-20 118 71 56 45 21 12 D10005AA.1055
10,80 M12x1,25 1/2-13 18 71 56 45 2,2 12 D10005AA.1080
11,00 M12x1 118 71 56 45 2,2 12 D10005AA.1100
11,10 MJ12x1 18 71 56 45 22 12 D10005AA.1110
11,20 M12x0,75 118 71 56 45 22 12 D10005AA.1120
11,25 M12x0,75 M12 18 71 56 45 23 12 D10005AA.1125
11,30 118 71 56 45 23 12 D10005AA.1130
11,35 M12x1,5 118 71 56 45 23 12 D10005AA.1135
11,50 1/2-20 118 71 56 45 23 12 D10005AA.1150
11,60 M12x1 118 71 56 45 23 12 D10005AA.1160
11,80 1/4 1/2-13 118 71 56 45 24 12 D10005AA.1180
12,00 M4 M13x1 18 71 56 45 24 12 D10005AA.1200
12,15 1/2-20 124 77 60 45 24 14 D10005AA.1215
12,20 9/16-12 124 77 60 45 24 14 D10005AA.1220
10,25 M11x0,75 7/16-14 118 71 56 45 2,0 12 D10005AA.1025
12,50 M14x1,5 124 77 60 45 25 14 D10005AA.1250
12,70 M13x0,75 124 77 60 45 25 14 D10005AA.1270
12,80 M14x1,25 124 77 60 45 26 14 D10005AA.1280
12,90 MJ14x1,25 9/16-18 124 77 60 45 26 14 D10005AA.1290
13,00 M14x1 124 77 60 45 26 14 D10005AA.1300
13,10 MJ14x1 M14 124 77 60 45 26 14 D10005AA.1310
13,20 M14x0,75 124 77 60 45 26 14 D10005AA.1320

REIVE




Bk

h6
VHM 5xD TIBLU
UU[@J[W][W][ ]

d, (h6)

y

A

y
A

A

d,(m7)=D

NORIS

DRILLREX UNI

DIN 6535 HA

5xD
TIBLU
BEES

¢ dl

[mm] [mm] [mm] [mm] [mm] [mm] [mm]
13,30 124 77 60 45 2,7 14 D10005AA.1330
13,35 M14x1,5 124 77 60 45 2,7 14 D10005AA.1335
13,50 5/8-11 124 77 60 45 2,7 14 D10005AA.1350
13,95 124 77 60 45 2,7 14 D10005AA.1395
14,00 M16 M15x1 124 77 60 45 28 14 D10005AA.1400
14,20 133 83 63 48 29 16 D10005AA.1420
14,25 133 83 63 48 29 16 D10005AA.1425
14,50 M16x1,5 5/8-18 133 83 63 48 29 16 D10005AA.1450
14,75 133 83 63 48 3,0 16 D10005AA.1475
14,80 5/8-11 133 83 63 48 30 16 D10005AA.1480
14,90 133 83 63 48 30 16 D10005AA.1490
15,00 M16x1 133 83 63 48 30 16 D10005AA.1500
15,10 MJ16x1 M16 133 83 63 48 3,0 16 D10005AA.1510
15,25 3/8 5/8-18 133 83 63 48 31 16 D10005AA.1525
15,35 M16x1,5 133 83 63 48 3,1 16 D10005AA.1535
15,50 M18 133 83 63 48 3,1 16 D10005AA.1550
15,60 M16x1 133 83 63 48 32 16 D10005AA.1560
16,00 M18x2 133 83 63 48 32 16 D10005AA.1600
16,20 143 93 71 48 3,4 18 D10005AA.1620
16,25 143 93 71 48 3,4 18 D10005AA.1625
16,40 143 93 71 48 3,4 18 D10005AA.1640
16,50 M18x1,5 3/4-10 143 93 71 48 34 18 D10005AA.1650
16,75 143 93 71 48 3,4 18 D10005AA.1675
17,00 M18x1 143 93 71 48 34 18 D10005AA.1700
17,35 143 93 71 48 35 18 D10005AA.1735
17,50 M20 3/4-16 143 93 71 48 35 18 D10005AA.1750
17,80 143 93 71 48 35 18 D10005AA.1780
17,85 3/4-10 143 93 71 48 35 18 D10005AA.1785
18,20 153 101 77 50 3,7 20 D10005AA.1820
18,35 3/4-16 153 101 77 50 3,7 20 D10005AA.1835
18,50 M20x1,5 153 101 77 50 3,7 20 D10005AA.1850
18,85 M20 153 101 77 50 3,7 20 D10005AA.1885
19,00 M20x1 153 101 77 50 3,7 20 D10005AA.1900
19,15 153 101 77 50 38 20 D10005AA.1915
19,25 153 101 77 50 38 20 D10005AA.1925
19,35 M20x1,5 153 101 77 50 38 20 D10005AA.1935
19,50 M22 7/8-9 153 101 77 50 3,7 20 D10005AA.1950
19,75 153 101 77 50 39 20 D10005AA.1975
20,00 153 101 77 50 3,7 20 D10005AA.2000




90° - sk

h6é
VHM 3xD TIBLU
UU[HJ[W][””][ ]

d, (h6)

NORIS
DRILLREX-C UNI

DIN 6535 HA

BAHIR

¥

140° | d, (m7)

~

90° |

3xD*
TIBLU
ERES

¢ dl

[mm]

2,80 57 17 96 36 06 9 6 4 D20003AA.028009
2,90 M3,5 M3x0,25 #5-40 57 18 96 36 0,6 9 6 4 D20003AA.029009
3,25 M3,5 62 22 97 36 07 9 6 5 D20003AA.032509
3,30 M4 M3,5x0,5 62 24 11,7 36 0,7 11 6 5 D20003AA.033011
3,70 M4,5 M4 MJ4x0,7 62 24 118 36 08 11 6 5 D20003AA.037011
4,20 M5  M5x0,75 M4,5 66 29 149 36 09 14 6 6 D20003AA.042014
4,65 M5 MJ5x0,8 66 29 149 36 09 14 6 6 D20003AA.046514
5,00 M6 #12-24 79 40 180 36 10 17 8 7 D20003AA.050017
5,60 MJ6x0,5 M6 79 40 181 36 11 17 8 7 D20003AA.056017
6,00 M7 79 42 222 36 12 21 8 8 D20003AA.060021
6,80 M8 1/16 M7x0,5 89 46 224 40 14 21 10 9 D20003AA.068021
7,00 M8x1 UNJF 5/16-24 89 46 224 40 14 21 10 9 D20003AA.070021
7,45 M8 5/16-24 89 46 22,5 40 1,5 21 10 9 D20003AA.074521
7,60 M8x1 89 46 225 40 15 21 10 9 D20003AA.076021
7,80 M9 M8x0,5 89 48 275 40 15 26 10 10 D20003AA.078022
8,45 M9 89 56 27,7 40 1,7 26 12 10 D20003AA.084522
8,50 M10  M9x0,5 3/8-24 102 56 27,7 45 1,7 26 12 11 D20003AA.085026
9,00 M10x1 102 56 27,8 45 1,8 26 12 11 D20003AA.090026
9,35 MJ10x0,75 M10 102 56 27,8 45 1,8 26 12 11 D20003AA.093526
9,60 MJ10x0,5 M10x1 102 56 239 45 19 22 12 12 D20003AA.096022
10,20 M12 M11x0,75 107 61 320 45 2,0 30 14 14 D20003AA.102030
10,35 Mi1 107 61 320 45 2,0 30 14 14 D20003AA.103530
10,50 M12x1,5 107 61 321 45 2,1 30 14 14 D20003AA.105030
11,25 M12x0,75 M12 107 61 322 48 22 30 14 14 D20003AA.112530
11,35 M12x1,5 107 61 322 48 22 30 14 14 D20003AA.113530
12,00 M14 M13x1 115 66 394 48 24 37 16 15 D20003AA.120037
12,50 M14x1,5 115 66 394 48 24 37 16 15 D20003AA.125037
13,10 MJ14x1 M14 115 66 396 48 26 37 16 15 D20003AA.131037
13,35 M14x1,5 115 66 396 48 26 37 16 15 D20003AA.133537
14,00 Ml16 M15x1 123 74 44,7 48 2,7 42 18 18 D20003AA.140042
14,50 M16x1,5 5/8-18 123 74 448 48 2,8 42 18 18 D20003AA.145042
15,10 MJ16x1 M16 123 74 449 48 29 42 18 18 D20003AA.151042
15,35 M16x1,5 123 74 450 48 3,0 42 18 18 D20003AA.153542
15,50 M18 131 80 480 50 3,0 45 20 20 D20003AA.155045

¥ ERAVERN T AL2ERAVERIRSORE A RIEERIEHESILRE (1 2XKBE)




NORIS DRILLREX-C UNI

# ZFEI8

AYIEIXTEL
T HESELR (42CrMo4 | 1.7225)
FELFL: B1211.25mm, FLIR3Smm (A FM12985 £ 225E)

YIBIZ2: Ve=80m/min | BEhiH25=0.13mm/rev

8 23% -50%

==
EL=]
2,1 SEK. ca. 5+ SEC.

Z

NORIS DRILLREX UNI

NORIS DRILLREX-C UNI

RER=1: LD E]
ZIEEEGEFLHIMEEIREL
a o -
§ il R .
Y - -
(Pﬂl [ &%
i -
§
11 | I I I
A TR I
BNNIES
KRR
8671,
| it

B 5782577, (NORIS DRILLREX-C UNI)
| B3RS



REINE

BEeRI, B2k

REIME NORIS GmbH
THREADING TECHNOLOGY

Gugelhammerweg 11
90537 Feucht | Germany

& +49 9128 9116 - 0
8+49 9128 9116-10

www.noris-reime.de
noris@noris-reime.de

REIVNE

BiREBN TR (LE) BRATE
FiEmRITXEERK16885

EBiE: +86 21 5484 0020
BBf4: info@noris-reime.com.cn WWW.noris-reime.de
Rtk www.noris-reime.com.cn NORIS DRILLREX | CN | M500 | V01/2021




